

Page 1 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0001 151006M	1.000	8,000.00000	8,000.00				
PERFORMANCE BOND A PAYMENT BOND	AND DOLL						
0003 153009P	(1)	28,000.00000	28,000.00				
BAR CHART PROGRESS SCHEDULE AND UPDAT							
0004 153011M	440.000	90.00000	39,600.00				
TRAINEES	HOUR						
0005 154003P	(1)	96,000.00000	96,000.00				
MOBILIZATION	LS						
0008 157004M	1.000	20,000.00000	20,000.00				
CONSTRUCTION LAYOU	JT DOLL						



Page 2 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

	act Description.	1.00.2.00, 01.007	,	,	00021(2/((10	, <u> </u>		
Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0012	159003M	400.000	1.00000	400.00				
BREAKAV	VAY BARRICADE	U						
0013	159006M	1,000.000	1.00000	1,000.00				
DRUM		U						
0014	159009M	1,000.000	12.00000	12,000.00				
TRAFFIC	CONE	U						
0015	159012M	626.000	21.60000	13,521.60				
CONSTRU	JCTION SIGNS	SF						
0016	159015M	2.000	1,100.00000	2,200.00				
CONSTRU SIGN, 4' X	JCTION IDENTIFICAT (8'	TION U						
0017	159027M	2.000	1,000.00000	2,000.00				
FLASHING	G ARROW BOARD, 4	' X 8' U						



Page 3 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0018	159030M	4.000	10,000.00000	40,000.00				
PORTAE SIGN	BLE VARIABLE MESS	SAGE U						
0019	159108M	2.000	5,000.00000	10,000.00				
	C CONTROL TRUCK ED CRASH CUSHION	_						
0020	159138M	10.000	800.00000	8,000.00				
HMA PA	тсн	Т						
0021	159141M	400.000	105.00000	42,000.00				
TRAFFIC	DIRECTOR, FLAGO	SER HOUR						
0022	159144M	2.000	50.00000	100.00				
EMERGI	ENCY TOWING SER	VICE U						



Page 4 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	er Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	Set:	Cat A	It Member:	
0023 159300M	203,730.000	0.23000	46,857.90				
TRAFFIC STRIPES, I	LATEX, 4" LF						
0024 159313M	90.000	6.00000	540.00				
TRAFFIC MARKINGS LATEX, 12"	S LINES, LF						
0025 161003P	(1)	25,000.00000	25,000.00				
FINAL CLEANUP	LS						
0026 201003P	(1)	25,000.00000	25,000.00				
CLEARING SITE	LS						
0027 401017P	1,183.000	25.00000	29,575.00				
MICRO-MILLING	SY						



Page 5 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0028	401021M	139.000	390.00000	54,210.00				
HOT MIX REPAIR	ASPHALT PAVEMEN	IT SY						
0029	401027M	80.000	5.00000	400.00				
POLYME	RIZED JOINT ADHES	IVE LF						
0030	401030M	110.000	5.00000	550.00				
TACK CO	DAT	GAL						
0031	421007M	59,759.000	3.80000	227,084.20				
MICROP	AVING JOINTS	LF						
0032	422004M	59,759.000	0.87000	51,990.33				
FOG SEA	AL STRIP	LF						
0033	424110M	102,050.000	4.97000	507,188.50				
CHIP SE	AL PG88-22FR	SY						



Page 6 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.						
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt		Cat A	It Member:	
0034	610003M	67,910.000	0.48000	32,596.80				
TRAFFIC	STRIPES, 4"	LF						
0035	610016M	30.000	36.00000	1,080.00				
TRAFFIC	MARKING LINES, 12	" LF						
0036	610021M	310.000	38.04000	11,792.40				
RPM, BI- LENS	DIRECTIONAL, AMBE	ER U						
0037	610024M	310.000	60.00000	18,600.00				
REMOVA	AL OF RPM	U						
0038	610033M	59,759.000	0.36000	21,513.24				
RUMBLE	STRIP	LF						
0039	610036M	109,320.000	0.75000	81,990.00				
REMOVA	AL OF TRAFFIC STRIF	PES LF						



Page 7 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

Contract Description: ROUTE 50, CR 557 (BUENA-TUCKAHOE RD) TO CUMBERLAND AVE

Oonaast Booonpasin	110012 00, 011 00	(COTE OC, CIT OCT (DOEINT TOCK TICE IND) TO COMBETTE THE							
Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.							
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:			
0040 612003P	36.000	52.80000	1,900.80						
REGULATORY AND WARNIN	NG SF								

Section Totals: \$1,460,690.77



Page 8 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

Contract Description: ROUTE 50, CR 557 (BUENA-TUCKAHOE RD) TO CUMBERLAND AVE

		(302107 10010 1102 170) 10 001021727 170 7772					
Line No / Item ID Item Description		(1) ASPHALT SYSTEMS					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTION	ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0006 155012M	1.000	38,000.00000	38,000.00				
FIELD OFFICE TYPE D SET U	JP U						
0007 155030M	8.000	5,000.00000	40,000.00				
FIELD OFFICE TYPE D MAINTENANCE	МО						

Section Totals: \$78,000.00



Page 9 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

Contract Description: ROUTE 50, CR 557 (BUENA-TUCKAHOE RD) TO CUMBERLAND AVE

Line No / Item ID Item Description		` '	LT PAVING MS, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003 (NON-PARTICIPATING (ROADWAY Cat Alt Set: Cat Alt Member:

 0002
 152015P
 1.000
 20,000.00000
 20,000.00

 POLLUTION LIABILITY INSURANCE
 DOLL

Section Totals: \$20,000.00



() indicates item is bid as Lump Sum

Tabulation of Bids

Page 10 of 10

Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 District(s): S1

Call Order: 139 **Project(s):** NHP-0050(302)

Contract Time: 09/19/21 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	EROSION CON	NTROL Cat Alt Set:		Set:	Cat Alt Member:		
0009 158006M	500.000	28.80000	14,400.00				
SILT FENCE	LF						
0010 158030M	2.000	750.00000	1,500.00				
INLET FILTER TYPE 2, 2' X	4' U						
0011 158072M	2.000	2,000.00000	4,000.00				
OIL ONLY EMERGENCY SF TYPE 1	PILL KIT, U						
Section Totals:			\$19,900.00				
Co	entract Totals		\$1,578,590.77				
Cost	Plus Time Totals		\$1,578,590.77				



Vendor Ranking Page:

Call Order: 139 Contract ID: 20139 Counties: ATLANTIC

Letting Date: December 10, 2020 10:00 AM District(s): S1

Contract Time: 09/19/21 COMPLETION DATE

Contract Description: ROUTE 50, CR 557 (BUENA-TUCKAHOE RD) TO CUMBERLAND AVE Project(s): NHP-0050(302)

Rank	Vendor	· ID/Name	Total Bid	Percent Of Low Bid
1	A8048	ASPHALT PAVING SYSTEMS, INC.	\$1,578,590.77	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.